-,
.\\ ) @ “%’\ & kolme murto -osaa, toimintojen jérjestys

Nimi: Paivamaara: Pisteet:
21+3+§: %-q-lxl:
5 5 4 4
3 2 1 1 1 1
—_— — X = = _ X _m— - =
5 5 4 6 5 2
1 1 1 1
— =72 -8 = —_— — - =
37278 2572
3 3 1 1
00— _ = -+ =X ==
75973 1573
1 3
-=T70+7= - =T70+7=
5 2
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kolme murto -osaa, toimintojen jarjestys

Nimi
3 38 3
21 -3+ == — =7—
3 5 5 75
3 2 1 1
—_— — X —_— = =
5 5 4 2

L 0c7- %) o
£~ T0+7= (%)= (9)

Paivamaara:
2 1 1 37
—_F = X - = —
5 4 4 R0
1 1 1 7
675 213
1 1 1 2
—_— e X — = =
2 5 2 5
3 1 1 49
—_F = X - = —
4 5 3 60

3 q0+7- Yy sl
S=T0+7=(5)=(83)
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